H & 0l & AHS B Ml A

20258 = =0l LB D= S eSS

FA JIFHEeNS )

M UXE & SIS
=2 Ol 2el X

(ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

SHS M 39,653,928 43,998,887 A4,344,959
= 24,900,881
[ 66,000
Il 100,000
< 9,449,505
Al 5,137,542

olUXIetE 2 SsHe 1,489,720 2,184,424 AB94,704
= 3,393
= 461,615
Al 1,024,712

ORI 2el XI& 1,489,720 2,184,424 A6, 704
= 3,393
[ 461,615
Al 1,024,712

FHANS JtAAE AHHEX 2S5 AL 21,660 19,800 1,860
= 6,498
Al 15,162

403 MR SHHMSAH=01H 21,660 19,800 1,860
= 6,498
Al 16,162

02 SISOt =2 A P E A I 21,660 19,800 1,860
OFSKHS IHAAE HEYX ESAE 21,660
= 6,498
Al 15,162

FHAAS UK SEHEHAIE 8,645 8,645 0
< 3,458
Al 5,187

402 QI2F X201 & 8,645 8,645 0
= 3,458
Al 5,187

03 2IZH2AETAI I 8,645 8,645 0
OFHAAE HHX SHEHAIS 8,645
= 3,458
Al 5,187

HIHXIZ S KI&AS 4,480 5,600 A1,120
== 2,240
Al 2,240

201 2= 4,480 5,600 A1,120
= 2,240
Al 2,240

01 At2teltl 4,480 5,600 A1,120
O XIZESr XIFHA 4,480
= 2,240




2A:

X XH -
o=

JIZHsttisw
i XIere &
O X 22l X2

=P fal
2|

chl: (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 2,240
ATHANUEK AFE =& 1,620 1,800 A180
203 =4l 1,620 1,800 A180
03 A=A 2= 1,620 1,800 A180
OLTHHOIL X AIZIHE R 2R =& 1,620
OIAXISl & A 5,000 8,000 A3,000
201 er23| 5,000 8,000 23,000
03 Ar=EHI 5,000 8,000 /3,000
OISl & A 5,000
LPGEI| ALt AIEIHE AL 7,541 6,750 791
= 3,393
S 1,245
Al 2,903
403 MR SHMSAH=0lH 7,541 6,750 791
= 3,393
< 1,245
Al 2,903
02 SI12S0ItH et =& 2 €A I 7,541 6,750 791
OLPGEI| MEItT A& ALY 7,541
= 3,393
s 1,245
Al 2,903
OSSP LPGHH 212 R A 200,000 900,000 700,000
S 200,000
402 2I2F X201 & 200,000 900,000 700,000
s 200,000
03 2IZ+RAETAIS I 200,000 900,000 700,000
OUt=EHe| LPGH 2t XI&AHS 200,000
= 200,000
C==8 CADIA B3 648,174 508,829 139,345
= 248,174
Al 400,000
402 QIF X201 & 648,174 508,829 139,345
= 248,174
Al 400,000
02 QI X2 AL E R (01X THE) 648,174 508,829 139,345
OH=EFE TADIA B 648,174
=S 248,174
Al 400,000
HUXIME 2 417,600 550,000 132,400
307 212+01& 417,600 560,000 132,400
05 2ItRIE = 417,600 550,000 132,400
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2A:

X XH -
o=

JIZHsttisw
1R

oels Jl=Hal S EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OEAZEIAMH 29 X& 200,000
| 100,000
Al 100,000
tHoled olg2tel 36,367,340 39,089,785 A2,672,445
= 24,695, 168
& 8,947,426
Al 2,724,746
g =82 249 195,336 205,336 210,000
& 61,600
Al 133,736
201 L2 | 195,336 205,336 210,000
= 61,600
Al 133,736
02 23244l 195,336 205,336 210,000
oy =82 24 195,336
= 61,600
Al 133,736
g dZE sl 44,000 34,000 10,000
201 Let23| 44,000 34,000 10,000
02 E324Hl 44,000 34,000 10,000
odZE RAE 22,000
oXdZH M| - SHRS 10,000
oM g 5 A4 AMEEH Rl 12,000
HIIKSA 200 XA (B3) 189,150 237,000 AA47,850
= 189, 150
405 Xt SHI 189, 150 237,000 A47,850
= 189,150
01 XL = SF =S| 189, 150 237,000 A47,850
OISt F0H X2 (Z3) 189,150
= 189,150
HI|ISEX 700 XIA(2I2H) 17,453,200 19,713,500 22,260,300
= 10,944,600
& 5,283,600
Al 1,225,000
402 BIZHR=0l M 17,453,200 19,713,500 22,260,300
= 10,944,600
& 5,283,600
Al 1,225,000
02 QIZEXHE AL B X (01 &THE) 17,453,200 19,713,500 22,260,300
OHFIIXSE 700 X2 (212H) 17,453,200
= 10,944,600
& 5,283,600
Al 1,225,000
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=
0x
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MEE
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SR BISIHA M2 AL

Mo

=

4,392,490
2,917,300
875,190
600,000

4,743,470

402 SI2EXH=201 S

Mo

=

4,392,490
2,917,300
875,190
600,000

4,743,470

A350,980
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©

=)

A2 AL E R (OIX )

HARX BISIOtA HZALY

H0

Mho

=

4,392,490
4,392,490
2,917,300
875,190
600,000

4,743,470

A350,980

Mo

=

37,404
22,618
6,786
8,000

45,236

AT,832

402 2I2FX=01 &

o

=

37,404
22,618
6,786
8,000

45,236

AT,832

hoH

37,404
37,404
22,618
6,786
8,000

45,236

AT,832
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18,243

N243

>
o
=
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18,000
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18,000
18,000

18,243

A243

FIIOIEX F0H X2 (2124)

W

Al

239,560
218,000
21,560

242,000

A2,440

g
N
o
=
T
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B

H

239,560
218,000
21,560

242,000

A2,440

H

=

239,560
239,560
218,000

21,560

242,000

N2,440

HIIStEXH 700 XA (2124)

o

10,989,200
8,920,000
1,873,200

13,644,000

A2,654,800




2A:

X XH -
o=

JIZHsttisw
1R

Celr I2g olgr2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 196,000
402 2IZtA=01d 10,989,200 13,644,000 A\2,654,800
= 8,920,000
= 1,873,200
Al 196,000
02 QI A2 AL E R (0IHTHE) 10,989,200 13,644,000 A2,654,800
O®EIIGSXt 200 XA (2124 10,989,200
= 8,920,000
S 1,873,200
Al 196,000
0120l SSXte LPGRH &gk I 27,000 110,000 83,000
= 13,500
< 4,050
Al 9,450
402 QI2F X201 & 27,000 110,000 /83,000
= 13,500
== 4,050
Al 9,450
02 QI TH2AILEE (01X THE) 27,000 110,000 /83,000
OO0{el0l SSiRte LPaXt Met K& 27,000
= 13,500
=S 4,050
Al 9,450
SIIHA FOHKIE 1,911,000 0 1,911,000
= 1,470,000
=S 441,000
402 QI2F X201 & 1,911,000 0 1,911,000
= 1,470,000
== 441,000
02 QI A2 AL E R (0IHTHE) 1,911,000 0 1,911,000
O&IIHA FOHXIR 1,911,000
= 1,470,000
& 441,000
DR S Y AP Mg FUHER =4 7,000 7,000 0
201 et 3| 7,000 7,000
2 S22l 7,000 7,000
OXJIXt SH7Y 2t UEE o
e Fx 7,000
Kot HIIXt SEAL X&0IA K& 742,000 0 742,000
= 342,000
Al 400,000
402 2IZtA=01d 742,000 0 742,000
S 342,000




2A:

X XH -
o=

JIZHsttisw
1R

Sl toILg oig2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 400,000
02 QI XHE AL E R (01X THE) 742,000 0 742,000
OXIot &IIXt STAIE X&0IE X 742,000
s 342,000
Al 400,000
22 AE L SEERIIGEE NSAL 16,000 40,000 A\24,000
& 16,000
402 2I2FX=01 & 16,000 40,000 A\24,000
s 16,000
02 QI X2 AL EER(0IETHE) 16,000 40,000 A\24,000
OLTZNE A RZERIISIE= HNSAY 16,000
= 16,000
Kot HIIXt SEFAH M AIE X KA 106,000 0 106,000
= 44,000
Al 62,000
402 QI2F X201 & 106,000 0 106,000
= 44,000
Al 62,000
02 QI X2 AL E R (01X THE) 106,000 0 106,000
OXlot HIIAt SHS MM AL EX
A2 A 106,000
== 44,000
Al 62,000
OISR M2 & 2el 449,984 486,400 N36,416
= 202,320
[ 66,000
= 40,464
Al 141,200
OIMIZHA M g2 =4 17,200 23,400 26,200
201 er23| 16,500 22,500 26,000
01 AtR2t2|HI 16,500 22,500 26,000
OOIMZX e u=s - 82 85 S 14,000
OZXJIHIAL XbEf J|IEI0tH &Y 2,500
203 gF=4| 700 900 A200
03 A=A 2= 700 900 2200
ODINISX Mz & fe & 22 =8 700
C2 OIMEX 2dEYXY 29 15,000 35,000 £20,000
201 er2&| 15,000 35,000 /20,000
2 s5=34l 15,000 35,000 220,000
O==Z DINHA 2HELXE =29 15,000
IHEE N=sA22d EXIXEAE 280,784 276,000 4,784
= 202,320
= 40,464




2A:

X XH -
o=

JIZHsttisw
1R

el DIMEIX M & 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 38,000
402 2IZtA=01d 280,784 276,000 4,784
= 202,320
= 40,464
Al 38,000
02 QI A2 AL E R (0IHTHE) 280,784 276,000 4,784
OJEE N=A22e EXIXEAASE 280,784
= 202,320
& 40,464
Al 38,000
OIMIZHA M2At X3 & SEHHiE 253 =29 117,000 132,000 15,000
= 66,000
Al 51,000
101 @1A4H| 96,000 110,000 A 14,000
[ 55,000
Al 41,000
04 JIZtN2Z2XNSE+ 96,000 110,000 214,000
O=dtiz ¢=2 292 96,000
[ 55,000
Al 41,000
201 er23 | 21,000 22,000 21,000
= 11,000
Al 10,000
01 AtR22te|Hl 18,000 18,000 0
OusH|, 28 =235 78 S 18,000
[ 9,000
Al 9,000
02 s3=gHl 3,000 4,000 21,000
Ooxtg 7&Hl, U428 FUHE SHes S 3,000
= 2,000
Al 1,000
BIEJtA 555 Xte SdMet HSAIAE |FA2c 20,000 20,000 0
201 er2&| 20,000 20,000
2 s5=34l 20,000 20,000
o2dNet HEAAYE SN2+ 20,000
M 2HAHI(JIZ=HSISD 39,884 43,278 A3,3%
JlE2ZgHl(OIFEEtE ) 39,884 43,278 A3,3%
JlEZH(OIZEEHEn) 39,884 43,278 A3,3%
201 el 21,870 23,522 A1,652
01 At2teltl 21,870 23,522 1,652
Oggt+==H| 11,664
o=gH| 10,206




fA JIFHeNS )
Hu: WESAAY| (O SHHHS )
el = (OI1SHSIHS D) (649): &
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
202 04| 14,774 16,156 A1,382
01 AL 14,774 16,156 N1,382
CRECEEST] 14,774
203 gR=8| 3,240 3,600 A360
04 FEXA2EYERFAH 3,240 3,600 A360
ORMEZYER=a]
270,000 =122 3,240
Heas(OIFHSUSI) 1,000,000 1,700,000 A700,000
WRHeHXIE(0I=Hsi S 1,000,000 1,700,000 A700,000
OILXIAIZ D= XA 1,000,000 1,700,000 A700,000
2 IIsdE3 1,000,000 1,700,000 A700,000
0 JI=dEs 1,000,000 1,700,000 A700,000
tEo13 X 1,000,000




